ORIGINAL PAPER

# A UNIQUENESS THEOREM FOR DIRAC SYSTEM 

UNAL IC<br>Manuscript received: 29.11.2019; Accepted paper: 12.03.2020;<br>Published online: 30.06.2020.


#### Abstract

In this paper, we solve inverse problem for Dirac System. Especially, we show that it is possible to obtain the uniqueness of the potential function by using spectrums.


Keywords: Dirac Equation, uniqueness theorem, spectrum

## 1. INTRODUCTION

The Dirac equation is a modern presentation of the relativistic quantum mechanics of electrons intended to make new mathematical results accessible to a wider audience. It treats in some depth the relativistic invariance of a quantum theory, self-adjointness and spectral theory, qualitative features of relativistic bound and scattering states, and the external field problem in quantum electrodynamics, without neglecting the interpretational difficulties and limitations of the theory. Note that, inverse problems for Dirac system had been investigated by Moses [1], Prats and Toll [2], Verde [3], Gasymov and Levitan [4] and Panakhov [5]. It is well known that two spectra uniquely determine the matrix-potential. Let $Q$ denotes a matrix operator

$$
Q=\left(\begin{array}{ll}
p_{11}(x) & p_{12}(x) \\
p_{21}(x) & p_{22}(x)
\end{array}\right), p_{12}(x)=p_{21}(x)
$$

where $p_{i k}(x)(i, k=1,2)$ are real functions which are defined and continuous on the interval $[0, \pi]$. Further, let $\varphi(x)$ denotes a two component vector function

$$
\varphi(x, \lambda)=\binom{\varphi_{1}(x, \lambda)}{\varphi_{2}(x, \lambda)} .
$$

Then the equation

$$
\left(B \frac{d}{d x}+Q-\lambda I\right) \varphi=0
$$

where $\lambda$ is a parameter, and

[^0]\[

B=\left($$
\begin{array}{cc}
0 & 1 \\
-1 & 0
\end{array}
$$\right), I=\left($$
\begin{array}{ll}
1 & 0 \\
0 & 1
\end{array}
$$\right)
\]

is equivalent to a system of two simultaneous first-order ordinary differential equations

$$
\begin{align*}
& \frac{d \phi_{2}}{d x}+p_{11}(x) \phi_{1}+p_{12}(x) \phi_{2}=\lambda \phi_{1}  \tag{1}\\
& -\frac{d \phi_{1}}{d x}+p_{21}(x) \phi_{1}+p_{22}(x) \phi_{2}=\lambda \phi_{2}
\end{align*}
$$

For the case in which $p_{12}(x)=p_{21}(x)=0, p_{11}(x)=V(x)+m, p_{22}(x)=V(x)-m$, where $V(x)$ is a potential function, and $m$ is the mass of a particle, the system (1) is known in relativistic quantum theory as a stationary one-dimensional Dirac system. For the case in which

$$
\begin{gathered}
p_{12}(x)=p_{21}(x)=0 \\
p_{11}(x)=V(x)+m=p(x) \\
p_{22}(x)=V(x)-m=r(x),
\end{gathered}
$$

we obtain the following system called first canonic form of Dirac operator

$$
\begin{align*}
& \phi_{2}^{\prime}-\{\lambda+p(x)\} \phi_{1}=0,  \tag{2}\\
& \phi_{1}^{\prime}+\{\lambda+r(x)\} \phi_{2}=0,
\end{align*}
$$

Let us denote by $\varphi(x, \lambda)$ the solution of the system (2) satisfying the initial conditions

$$
\begin{equation*}
\varphi_{1}(0, \lambda)=\cos \alpha, \varphi_{2}(0, \lambda)=-\sin \alpha \tag{3}
\end{equation*}
$$

The function $\varphi(x, \lambda)$ obviously satisfies the following condition

$$
\begin{equation*}
\varphi_{2}(0, \lambda) \cos \alpha+\varphi_{1}(0, \lambda) \sin \alpha=0 \tag{4}
\end{equation*}
$$

Let us consider the problem (2)-(3) for $p(x)=r(x)=0$. As is not difficult to see, in this case

$$
\begin{aligned}
& \phi_{1}(x, \lambda)=\cos (\lambda x-\alpha), \\
& \phi_{2}(x, \lambda)=\sin (\lambda x-\alpha)
\end{aligned}
$$

We will assume that the functions $p(x)$ and $r(x)$ are continuous on the interval $[0, \pi]$ and $\lambda$ is an eigenvalue of this problem [6].

Lemma 1. [4] For $|\lambda| \rightarrow \infty$ the following estimates hold uniformly with respect to $x$, $0 \leq x \leq \pi$ :

$$
\begin{aligned}
& \varphi_{1}(x, \lambda)=\cos \{\xi(x, \lambda)-\alpha\}+O\left(\frac{1}{\lambda}\right), \\
& \varphi_{2}(x, \lambda)=\sin \{\xi(x, \lambda)-\alpha\}+O\left(\frac{1}{\lambda}\right),
\end{aligned}
$$

where $\xi(x, \lambda)=\lambda x-\frac{1}{2} \int_{0}^{x}[p(\tau)+r(\tau)] d \tau$ and the sequence $\left\{\lambda_{n}\right\}$ satisfies the classical asymptotic form

$$
\lambda_{n}=n+\frac{v}{\pi}+O\left(\frac{1}{n}\right),(n=0, \pm 1, \pm 2, \ldots)
$$

where $v, \alpha$ and $\beta$ are defined by

$$
\begin{aligned}
& v=\beta-\alpha-\frac{1}{2} \int_{0}^{\pi}[p(\tau)+r(\tau)] d \tau \\
& \alpha=\cos \left\{\frac{1}{2} \int_{0}^{x}[p(\tau)+r(\tau)] d \tau\right\}
\end{aligned}
$$

and

$$
\beta=\sin \left\{\frac{1}{2} \int_{0}^{x}[p(\tau)+r(\tau)] d \tau\right\}
$$

Remark: [4] For the case of $p(x)=r(x)=0$, we get $\alpha=1, \beta=0$ and $\lambda_{n}=n+O\left(\frac{1}{n}\right)$.

## 2. A UNIQUENESS THEOREM

In this section, we will consider two problems consist of two different potentials and then two spectrums. We will show that two spectrums are enough for obtaining the potentials as uniquely. There are similar type problems in the literature.

Let us consider the problem

$$
\begin{align*}
& B y^{\prime}+Q_{1}(x) y=\lambda y \quad(0 \leq x \leq \pi)  \tag{5}\\
& y_{2}(0)-h y_{1}(0)=0 \tag{6}
\end{align*}
$$

$$
\begin{equation*}
y_{2}(\pi)+H y_{1}(\pi)=0 \tag{7}
\end{equation*}
$$

where the functions $p_{i}(x), q_{i}(x)(i=1,2)$ are real and continuous on $[0, \pi]$ and $h, H$ are and

$$
B=\left(\begin{array}{cc}
0 & 1 \\
-1 & 0
\end{array}\right), \quad Q_{1}(x)=\left(\begin{array}{cc}
p_{1}(x) & q_{1}(x) \\
q_{1}(x) & -p_{1}(x)
\end{array}\right), \quad y(x)=\binom{y_{1}(x)}{y_{2}(x)} .
$$

We will show the spectrum of this problem as $\Lambda\left(h, H ; Q_{1}\right)$.
Also let us consider the second problem (6)-(7)

$$
\begin{equation*}
B y^{\prime}+Q_{2}(x) y=\lambda y \quad(0 \leq x \leq \pi) \tag{8}
\end{equation*}
$$

Let's consider the equation. In equation (8)

$$
\begin{align*}
& B y^{\prime}+Q_{1}(x) y=\lambda y \\
& y_{2}(0)-h y_{1}(0)=0 \\
& y_{2}(\pi)+H_{1} y_{1}(\pi)=0 \quad\left(H \neq H_{1}\right) \tag{9}
\end{align*}
$$

Spectrum of this problem is $\Lambda\left(h, H ; Q_{2}\right)$ and

$$
Q_{2}(x)=\left(\begin{array}{cc}
p_{2}(x) & q_{2}(x) \\
q_{2}(x) & -p_{2}(x)
\end{array}\right)
$$

Now, we are ready to give to following uniqueness theorem.
Theorem 2.1. [7] If $H \neq H_{1}$. Then, $\Lambda\left(h, H ; Q_{1}\right)=\Lambda\left(h, H ; Q_{2}\right)$ and $\Lambda\left(h, H_{1} ; Q_{1}\right)=\Lambda\left(h, H_{1} ; Q_{2}\right)$ then $Q_{1}(x)=Q_{2}(x)$.

Proof: Solution of (5)-(7) $\varphi(x)=\binom{\varphi_{1}(x, \lambda)}{\varphi_{2}(x, \lambda)}$ and solution of the problem (6)-(8) $\psi(x)=\binom{\psi_{1}(x, \lambda)}{\psi_{2}(x, \lambda)}$ and also spectrums of these problems are $\Lambda\left(h, H ; Q_{1}\right), \Lambda\left(h, H_{1} ; Q_{1}\right)$ respectively. Then, we have

$$
\begin{gather*}
\varphi_{2}^{\prime}\left(x, \lambda_{n}\right)+\left\{p_{1}(x)-\lambda_{n}\right\} \varphi_{1}\left(x, \lambda_{n}\right)+q_{1}(x) \varphi_{2}\left(x, \lambda_{n}\right)=0  \tag{10}\\
-\varphi_{1}^{\prime}\left(x, \lambda_{n}\right)+q_{1}(x) \varphi_{1}\left(x, \lambda_{n}\right)-\left\{p_{1}(x)+\lambda_{n}\right\} \varphi_{2}\left(x, \lambda_{n}\right)=0  \tag{11}\\
\varphi_{2}\left(0, \lambda_{n}\right)-h \varphi_{1}\left(0, \lambda_{n}\right)=0 \tag{12}
\end{gather*}
$$

$$
\begin{equation*}
\varphi_{2}\left(\pi, \lambda_{n}\right)+H \varphi_{1}\left(\pi, \lambda_{n}\right)=0 \tag{13}
\end{equation*}
$$

also for $\psi\left(x, \lambda_{n}\right)$ we can write

$$
\begin{gather*}
\psi_{2}^{\prime}\left(x, \lambda_{n}\right)+\left\{p_{2}(x)-\lambda_{n}\right\} \psi_{1}\left(x, \lambda_{n}\right)+q_{2}(x) \psi_{2}\left(x, \lambda_{n}\right)=0  \tag{14}\\
-\psi_{1}^{\prime}\left(x, \lambda_{n}\right)+q_{2}(x) \psi_{1}\left(x, \lambda_{n}\right)-\left\{p_{2}(x)+\lambda_{n}\right\} \psi_{2}\left(x, \lambda_{n}\right)=0  \tag{15}\\
\psi_{2}\left(0, \lambda_{n}\right)-h \psi_{1}\left(0, \lambda_{n}\right)=0  \tag{16}\\
\psi_{2}\left(\pi, \lambda_{n}\right)+H \psi_{1}\left(\pi, \lambda_{n}\right)=0 \tag{17}
\end{gather*}
$$

multiply (10)-(11)-(14)-(15) by $-\psi_{1}\left(x, \lambda_{n}\right),-\psi_{2}\left(x, \lambda_{n}\right), \varphi_{1}\left(x, \lambda_{n}\right), \varphi_{2}\left(x, \lambda_{n}\right)$ respectively and sum them

$$
\begin{aligned}
& -\left(\phi_{2}^{\prime}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)+\phi_{2}\left(x, \lambda_{n}\right) \psi_{1}^{\prime}\left(x, \lambda_{n}\right)\right) \\
& +\left\{\left(\phi_{1}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)-\phi_{2}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)\right\}\left(p_{2}(x)-p_{1}(x)\right)\right. \\
& +\left(\phi_{1}^{\prime}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)+\phi_{1}\left(x, \lambda_{n}\right) \psi_{2}^{\prime}\left(x, \lambda_{n}\right)\right) \\
& +\left\{\left(\phi_{1}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)+\phi_{2}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)\right\}\left(q_{2}(x)-q_{1}(x)\right)=0\right.
\end{aligned}
$$

After some corrections, we obtain

$$
\begin{aligned}
& \left(\phi_{1}^{\prime}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)+\phi_{1}\left(x, \lambda_{n}\right) \psi_{2}^{\prime}\left(x, \lambda_{n}\right)\right)-\left(\phi_{2}^{\prime}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)+\phi_{2}\left(x, \lambda_{n}\right) \psi_{1}^{\prime}\left(x, \lambda_{n}\right)\right) \\
& =\left\{\left(\phi_{1}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)-\phi_{2}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)\right\}\left(p_{2}(x)-p_{1}(x)\right)\right. \\
& +\left\{\left(\phi_{1}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)+\phi_{2}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)\right\}\left(q_{2}(x)-q_{1}(x)\right)\right.
\end{aligned}
$$

Integrating the last equality from 0 to, it will be

$$
\begin{align*}
& \int_{0}^{\pi} \frac{d}{d x}\left\{\varphi_{1}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)-\varphi_{2}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)\right\} \\
& =\int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)-\varphi_{2}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)\right]\left(p_{2}(x)-p_{1}(x)\right)\right\} d x \\
& +\int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)+\varphi_{2}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)\right]\left(q_{2}(x)-q_{1}(x)\right)\right\} d x \tag{18}
\end{align*}
$$

with the boundary conditions

$$
\left[\varphi_{1}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)-\varphi_{2}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)\right]_{x=0}^{x=\pi}=0
$$

and then, we obtain

$$
\begin{align*}
& \int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)-\varphi_{2}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)\right]\left(p_{2}(x)-p_{1}(x)\right)\right\} d x  \tag{19}\\
& +\int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \lambda_{n}\right) \psi_{2}\left(x, \lambda_{n}\right)+\varphi_{2}\left(x, \lambda_{n}\right) \psi_{1}\left(x, \lambda_{n}\right)\right]\left(q_{2}(x)-q_{1}(x)\right)\right\} d x=0
\end{align*}
$$

Similarly, $\Lambda\left(h, H_{1} ; Q_{1}\right)=\Lambda\left(h, H_{1} ; Q_{2}\right)$ such that $\varphi\left(x, \mu_{n}\right)$ satisfies

$$
\begin{gather*}
\varphi_{2}^{\prime}\left(x, \mu_{n}\right)+\left\{p_{1}(x)-\mu_{n}\right\} \varphi_{1}\left(x, \mu_{n}\right)+q_{1}(x) \varphi_{2}\left(x, \mu_{n}\right)=0  \tag{10’}\\
-\varphi_{1}^{\prime}\left(x, \mu_{n}\right)+q_{1}(x) \varphi_{1}\left(x, \mu_{n}\right)-\left\{p_{1}(x)+\mu_{n}\right\} \varphi_{2}\left(x, \mu_{n}\right)=0  \tag{11’}\\
\varphi_{2}\left(0, \mu_{n}\right)-h \varphi_{1}\left(0, \mu_{n}\right)=0  \tag{12'}\\
\varphi_{2}\left(\pi, \mu_{n}\right)+H \varphi_{1}\left(\pi, \mu_{n}\right)=0 \tag{13'}
\end{gather*}
$$

on the other hand we can write also for $\psi\left(x, \mu_{n}\right)$

$$
\begin{gather*}
\psi_{2}^{\prime}\left(x, \mu_{n}\right)+\left\{p_{2}(x)-\mu_{n}\right\} \psi_{1}\left(x, \mu_{n}\right)+q_{2}(x) \psi_{2}\left(x, \mu_{n}\right)=0  \tag{14'}\\
-\psi_{1}^{\prime}\left(x, \mu_{n}\right)+q_{2}(x) \psi_{1}\left(x, \mu_{n}\right)-\left\{p_{2}(x)+\mu_{n}\right\} \psi_{2}\left(x, \mu_{n}\right)=0  \tag{15’}\\
\psi_{2}\left(0, \mu_{n}\right)-h \psi_{1}\left(0, \mu_{n}\right)=0  \tag{16'}\\
\psi_{2}\left(\pi, \mu_{n}\right)+H \psi_{1}\left(\pi, \mu_{n}\right)=0 \tag{17’}
\end{gather*}
$$

Multiply the equalities by (10'), (11'), (14'), (15') $-\psi_{1}\left(x, \mu_{n}\right),-\psi_{2}\left(x, \mu_{n}\right)$, $\varphi_{1}\left(x, \mu_{n}\right), \varphi_{2}\left(x, \mu_{n}\right)$, respectively and sum them we obtain

$$
\begin{aligned}
& -\left(\phi_{2}^{\prime}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)+\phi_{2}\left(x, \mu_{n}\right) \psi_{1}^{\prime}\left(x, \mu_{n}\right)\right) \\
& +\left\{\left(\phi_{1}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)-\phi_{2}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)\right\}\left(p_{2}(x)-p_{1}(x)\right)\right. \\
& +\left(\phi_{1}^{\prime}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)+\phi_{1}\left(x, \mu_{n}\right) \psi_{2}^{\prime}\left(x, \mu_{n}\right)\right) \\
& +\left\{\left(\phi_{1}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)+\phi_{2}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)\right\}\left(q_{2}(x)-q_{1}(x)\right)=0\right.
\end{aligned}
$$

after some corrections, we get

$$
\begin{aligned}
& \left(\varphi_{1}^{\prime}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)+\varphi_{1}\left(x, \mu_{n}\right) \psi_{2}^{\prime}\left(x, \mu_{n}\right)\right)-\left(\varphi_{2}^{\prime}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)+\varphi_{2}\left(x, \mu_{n}\right) \psi_{1}^{\prime}\left(x, \mu_{n}\right)\right) \\
& =\left\{\left(\varphi_{1}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)-\varphi_{2}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)\right\}\left(p_{2}(x)-p_{1}(x)\right)\right. \\
& +\left\{\left(\varphi_{1}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)+\varphi_{2}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)\right\}\left(q_{2}(x)-q_{1}(x)\right)\right.
\end{aligned}
$$

integrating last equality from 0 to $\pi$ we can easily obtain

$$
\begin{align*}
& \int_{0}^{\pi} \frac{d}{d x}\left\{\varphi_{1}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)-\varphi_{2}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)\right\} \\
& =\int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)-\varphi_{2}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)\right]\left(p_{2}(x)-p_{1}(x)\right)\right\} d x \\
& +\int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)+\varphi_{2}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)\right]\left(q_{2}(x)-q_{1}(x)\right)\right\} d x \tag{18’}
\end{align*}
$$

by the conditions for the solutions $\varphi_{1}\left(x, \mu_{n}\right), \varphi_{2}\left(x, \mu_{n}\right)$ and $\psi_{1}\left(x, \mu_{n}\right), \psi_{2}\left(x, \mu_{n}\right)$ we yield

$$
\left[\varphi_{1}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)-\varphi_{2}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)\right]_{x=0}^{x=\pi}=0 .
$$

So,

$$
\begin{align*}
& \int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)-\varphi_{2}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)\right]\left(p_{2}(x)-p_{1}(x)\right)\right\} d x  \tag{19'}\\
& +\int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)+\varphi_{2}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)\right]\left(q_{2}(x)-q_{1}(x)\right)\right\} d x=0
\end{align*}
$$

eventually,

$$
\begin{align*}
& \int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)-\varphi_{2}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)\right]\left(p_{2}(x)-p_{1}(x)\right)\right\} d x  \tag{20}\\
& +\int_{0}^{\pi}\left\{\left[\varphi_{1}\left(x, \mu_{n}\right) \psi_{2}\left(x, \mu_{n}\right)+\varphi_{2}\left(x, \mu_{n}\right) \psi_{1}\left(x, \mu_{n}\right)\right]\left(q_{2}(x)-q_{1}(x)\right)\right\} d x=0
\end{align*}
$$

and we can obtain that

$$
p_{2}(x)-p_{1}(x)=0 \quad, \quad q_{2}(x)-q_{1}(x)=0
$$

or,

$$
Q_{1}(x)=Q_{2}(x)
$$

almost everywhere. This completes the proof.

## 3. CONCLUSION

We considered that two problems consist of two different potentials and then two spectra. We have shown that the two spectra are sufficient to achieve the potentials uniquely. We have shown that it is possible to obtain the uniqueness of the potential function using spectra.

## REFERENCES

[1] Moses, H. E., Bulletin of American Physical Society, 4, 240, 1956.
[2] Prats, F., Toll, J. S., Physical Review, 113, 363, 1959.
[3] Verde, M., Nuclear Physics, 9, 255, 1958/59.
[4] Gasymov, M. G., Levitan, B. M., Doklady Akademii Nauk SSSR, 167, 967, 1966.
[5] Panakhov, E. S., Doklady AN AzSSR, 5, 8, 1985.
[6] Yılmaz, E., Inc, M., Koyunbakan, H., Turkish Journal of Science and Technology, 4, 111, 2009.
[7] Ic, U., PhD Thesis, Firat University, 2003.


[^0]:    ${ }^{1}$ Firat University, Faculty of Education, Elazig, Turkey. E-mail: unalic @firat.edu.tr.

